	Cornell Notes
	Topic/Objective:                                                Name:

	
	Linear Equations: X-and-Y Intercepts    

	
	                                                                     Date:

	Learning Objective:


Language Objective.
	I can find the x-intercept and y-intercept of a linear equation.

For x-intercept:  I will set the “y” to 0 and solve.  The order pair will be (x, 0).

For y-intercept:  I will set the “x” to 0 and solve.  The order pair will be (0, y).

I will know that the y-intercept crosses the y-axis.
I will know that the x-intercept crosses the x-axis.

	
	

	QUESTIONS:

How do I graph using the x-intercept and y-intercept?Summary:

	NOTES:

1.  3x + 9y = 18
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Ex 2:  -5x +-2y= 10 
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Summary:
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	SUMMARY:  Do I know the steps to write a proportion to solve a real world problem?
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